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qifegen Fraar aHen
MENTAL ABILITY TEST
T UIE-UA | Fe 50 W ¥ | UAF UV UF F® & g

THERE ARE 50 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

W (1-4)/ Questions (1-4)

fRw : W 1 ¥ 4 a% TS § T sER-gn & T, ed uE e qw ¢ B o
oo fag (7 ) @ <vian m &) 98 w8 39 Aot & A Y 9w fawedt & @ o ) wé fawen
T FifAT |

Direction : In each of the questions 1 to 4 some of the letters are missing in the
given series with one term missing shown by question mark ( ? ). This term is one of
the alternatives- among the four groups of letters given under it. Find the right
alternative.

1. Z,W,S, 2.

(y P (2 O 3) N 4 Q.
2. AN,CP,FS, 2 .

(1 1w 2y JW (3) KX (4) LY.
3. MYZ, LWX, _? ,JST. ‘

(I) KUV (2). IQR (3) HOP (4) GMN.
4, bdf, hjl, _?2 , tvx.

(1) nrp (2) pnr (3) ngr (4) npr.

WS (5-8)/ Questions (5-8)

frder : o 5 ¥ 8 OF vaT § Um GEm-Avi & w g, e v w o € e w
s fag (?) ¥ Toin T ¥ 798 ug 39 9ot & A Rl aw fawedt # @ o ¥ W fawed
T ity |

Direction : In each of the questions 5 to 8 some of the numbers are missing in
the given series with one term missing shown by question mark ( ? ). This term is one
of the alternatives among the four numbers given under it. Find the right alternative.

5. 8, 27, 64, ?_, 216, 343.

(1) 125 (2) 81 (3) 100 (4) 196.
6. B 118, 5, 81
(1) 28 (2) 29 3) 30 (4) 35.
7. 120, 2, 24, 6, O.
(1) 100 (2) 70 (3) 60 4) 20.
1 3
8. 729, 81, 9, 1, -9-, Py 729"
al o 2) = B) =iz @) —

81
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W (9-11)/ Questions (9-11)

e : 9 ww we F Q) e R S e 1 el 1o R oo #) soet R e wet
® TG HAA R, 9 & 3 eww qal @ e wdlla @ &) Frewst w 9g e 92 9 S

wr-a1 e fg e weEl #1 A 9 S @ SRR w5 §

Direction : In each of the questions below are given two statements and two
conclusions numbered I and II. You have to take the given two statements to be true
even if they seem to be at variance from commonly known facts. Read the conclusions
and then decide which of the given conclusions logically follows from the two given

statements.

9.

10.

FUA : () = | o= O
() [t 9w €

frerd - Mm o O A E
) : FP U U g

(1) oo s 19 &

2) %ad Frd 1w R

(3) =l ferd 1 &R 11w

(4) =t frepd 1 3R T @ Frepd 11w g

Statements (i) : All pencils are pens.
(i) All pens are markers.
Conclusions (I) : All pencils are markers.
(m : Some pens are pencils.

(1)  Only concldsion I is true

(2)  Only conclusion II is true

(3) Both conclusions I and II are true

(4) Neither conclusion I nor conclusion II is true.

I () : T faeE T §
() : T TEE T €

frend : M : T faeE o E
am : et e w= ¥

(1) Faet frepd 1 T &

2) Fae frepd 1w €

(3) =T frewd 1 3R 1w ¥

(4) 7 at fremd 1 @R 7 & Freed 11w E)

Statements (i) : Some players are singers.
(1) All singers are tall.
Conclusions (I) : Some players are tall.
(I All players are tall.

(1)  Only conclusion I is true

(2)  Only conclusion Il is true

(3) Both conclusions I and II are true

(4) Neither conclusion I nor conclusion II is true.
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11. %97 : (i) : G gRR R

@ : FTER G E

frewe - M : T A TR §)
(I : | e A E

(1) e ferd 1

(2) oo s 1 T

(3) =i Fepd 1 3R 1w #

(4) Fa Fspd | 3R T @ Freed 1w )

Statements (i) All stones are diamond.
(i1) Some diamonds are pearl.

Conclusions (I) : Some pearls are stone.
(I) :  All diamonds are pearl. *

(1) Only conclusion I is true

(2)  Only conclusion II is true

(3) Both conclusions I and Il are true

(4)  Neither conclusion I nor conclusion Il is true.

12. 4 # @ ®1F-91 99 sn@ g, e SR e # 98 'Y § w2 s ko2
1) ; @ |GoD

@) OOO (@)

Which of the following Venn diagrams correctly represents intelligence, ability
and honesty ?

m |@D @ (3D

) OOO @)

13. 3 9 ¥ ®F-1 37 ava e, ura 3k ofvrr & 98 w9 F st s o2

" @ OO
| O
(3) .(4) G@
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Which of the following Venn dlagrams correctly represents Delhi, India and
Asia ?

(1) @ @ OO
O

o (© o (o)

W (14 -15) / Questions ( 14 - 15)

14,

15.

7= e & AMR W IR S

Give answer on the following Venn diagram :

Teacher
srFew
@ ‘/Doctor
LLA\ Wit
Musician
WiEH A e di R WE ?

How many persons are related to all three ?
(1) 20 (2) 12 (3) 32 4) 17.
R e SfFa AR e ?

How many persons are related to any two ?
(1) 32 (2) 34 (3) 43 4) 27.

W (16 -19) / Questions ( 16 - 19)

e : we 16 ¥ 19 7% ¥ O fawey frdt ofe & wom § W s femem v

3T €| 7o fadeq 99 # WE I farEn |

Direction : In questions 16 to 19 three alternatives are alike in a certain way

but the rest one is different. Find out the odd one and write correct answer.

16.

17.

18.

19,

(I) ABNO (2) CDPQ
(3) EFRS (4) GHUT.

(1) 144,12 2) 121,11

(3) 80,9 (4) 100, 10.

(1) U/ Pen (2) U=EIE / Pencil

(3) % / Chalk (4) vamTZ / Blackbeard.
(1) &R=oT / Haryana (2) TFUE / Gujarat

(3) TS / Rajasthan (4) & / Shimla.
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20. @ "3yl ¥ 3 % fauda wors W A-g G ¥ 2

SIS

(1) 2 (2 3 3) 4 (4) 6.
In the given dice the opposite side of the 3 face is having which number ?

NS

(1) 2 (2) 3 (3 4 (4) 6.
21. U UE ® 3 feufoat A o # ) s 2 oAt swo de a2

(1) 3 (2) S (3) 1 (4) 6.
In the given two positions of a dice, when 2 is below the dice which number is on
the dice ?
(1) 3 (2 5 (3) 1 (4) 6.

W (22 -23) / Questions ( 22 - 23) 5 =%
e . w1 W i et % I St

Direction : Answer the questions on the basis of cube :
22. 6 W e A TR w2 W e e w= | fawifee e s At od wA o g

& E

A cube of side 6 cm is divided in the cubes of side 2 cm. Then the total number
of cubes is

(1) 9 (2) 27 (3) 81 (4) 216.

23. TS U9 W IFHA I W &, T9H 3 & fauiia gae s € ?
In the given figure of cube which is opposite face of 3 ?

1

2
4
5

(1 1 2 4 3) S (4) 6.
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24,

25.

26.

27.

28.

29.

30.

iz ot @il wmr § ‘REKHA’ #1 ‘AHKER’ forar simam €, af HEMA’ &t ferar s

If in a coded language the word ‘REKHA’ is written as ‘AHKER’ then in the same
code language ‘HEMA' will be written as

(1) AMEH (2) EMAH (3) MAHE (4) EAMH.

gfg fawl wiwfas W1 § CHILDREN ®! EJKNFTGP for@r simn &, @ TEACHER &1
e oud

If in a coded language the word CHILDREN is written as EJKNFTGP then
TEACHER will be written as

(1) VGCEJTG (2) VGCEJGT (3)» VGCJEGT . (4) VGCGEJT.
foredt Tz e ® = forat aviaren v fav & | gt § ok @1 e ¢

A BCDESUVMN
7 913 4206 5 sa"?mwss?aiﬂﬁ
In a coded language the given alphabets are written in special codes,

A BCDESUVMN
7913 4206 S 8

Then code 973578 will be

(1) BADMAN (2) BACMAN (3) DUEMAN (4) MANSDE.

it ferdlt 2 W # RUSTY’ &1 96872 foman wman €, «t 34t e wmr § ZXwv' &1 foman
S

In a coded language ‘RUSTY’ is written as 96872. Then in the same coded
language ‘ZXWV’ will be written as

(1) 1354 (2) 1543 (3) 1345 (4) 1534,
A B OIE, B, CH P E C, DF Ty g, dl A® DE T4 &
(1) 9 2 «% (3) fomm (4) =TI

A is uncle of B, B is daughter of C, C is the wife of D’s son. Then how is A related
toD?

(1) Son (2) Brother
(3) Father (4) Maternal uncle.

T feor F AR 8 Tt Ter &, #€1 A < gy 6 et we €, fRe o 7 @€t | wd
ey 8 Tt wotan &1 Fase &t vk W § W e e g w2

Ram travels 8 km to south, then moves to right and travels 6 km and at the end
he again moves right and travels 8 km. Then the distance of Ram from initial
point is

(1) 6km (2) 8km (3) 10 km (4) 14 km.

g A H FT 4, 0 W IT ‘x, O F I ‘4«0 B, AN ¢ F JT = &, o

2406A506¢14F T &

If the meaning of Ais ‘+',01is ‘x’, O is ‘+’ and ¢ is ‘=", then the value of
2406A5064¢141s
(1) 34 Y (2) 20 (3) 14 4) 2.
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W¥ (31 -34) / Questions ( 31 - 34 )

ﬁiw:mmﬁumﬁfaaﬁ%ﬁw%,ﬁﬂﬁwwﬁm-haaqmﬁ
Il #ed €| - o wE H U % A% 7@ gu ¥ e Iee-fael § g v o
Femr o1 e e &, S wweEn-f § weeER ant sier o w9 1w 3e-fa s S

Direction : In questions 31 to 34 there are two sets of figures, one set contains
problem figures while the other has answer-figures. There is a sequence according to
which the problem figures are arranged. You have to select an answer-figure which can
be added in sequence in the problem-figures. Choose the correct figure. )

31 ae-fam / Problem-figures Fe-fax / Answer-figures
A A 0|a00|aO00|a00 A00|0AO|IxADO|aOO
v ¥ x3| ;o x3
(A) (B) (C) (D) (E) 1) (2) 3 (4)
32. m-fﬂi/}’roblem-ﬁgures W-fﬂi//\nswcr-ﬁgurcs
| TR AR LAY LR
(A)  (B) (C) (D) (E) @ 13 4
33. gua-faz / Problem-figures sH-fax / Answer-figures
AN 4 |Of? | @D | ¢
A) (B) (€ (D) 1) (2 3 9
34. guE-fa / Problem-figures . I-fag / Answer-figures
@) (@) LR
&l @ ?]0 o le ol®®
(A) (B) (€) (D) (1) 2 3 (4

"I (35-37) / Questions (35 -37)

féw : wom 35 9 37 9 weiw # W Fom RF @ ¥ T @ v Taw ey Tt @ ger @
T | I a6 faa & e st

Direction : In questions 35 to 37 there are four figures given. One of these does
not correlate with the rest of the figures. Find out that odd figure.

. |=|Z] | |2

(1) 2) 3 1)

6. |O(D|O|D

(1) (2) (3) (4)

a. |C ]

1 2 13 A
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38. fed mi faa # foret Bogei & 2

(1) 5 2) 6 (3) 8 (4) 10.

How many triangles are there in the figure below ?

A
22X

(1) 5 (2) 6 (3) 8 (4) 10.
39. fed ma feomr o fopert oo =i € 2

[ [ [ ]
[ [ ] ]

(1) 14 (3) 16 (4) 18.
How many parallelograms are there in the figure below ?

REE
[ ] ]

16 (4) 18.

(1) 14
WYH (40 - 42 ) / Questions (40 -42)
frdvr : UYT 40 ¥ 42 AF € T T F FEl g7 wiafea e Hifaw )

Direction : In questions 40 to 42 find the correct mirror image of the given
figure.

40. - ATF / Question-figure IT-ATHAAT / Answer-figures

A A &4 AN

(1) (2) (3) (4)




41.

42.

43.

44,

UYH-HHT / Question-figure

AP mEO

W—N@ﬁf / Question-figure

A

% 8 f : &1 e wieiaa &
The water image of the given figure
Jd L 1 L 2B r.l
2 d 2 B Tl 2 B
(1) (2) (3) (4)

g gt | @) | 1 I witaa &
The water image of the given figure
(1) (2) (3) (4)

W¥A (45 -46 ) / Questions ( 45 - 46 )
o : weH 45 - 46 H T Ft FoErER Hier T ¥ TEE wE @ wel st @

IW-3FHT H BE-H TAFHT a1 2

45.

-
5w

WNTW / Answer-figures

D R A a
E A A C |
A E C | A
R D a s
(1) (2) (3) (4)
W—N@ﬁﬁ"l / Answer-figures
AP A RN EP4
(1) (2) (3) (4)

is

is

Direction : In the following Questions 45 - 46, figures showing a sequence of
folding a paper are given. Which could resemble the figure in the Answer-figure ?

WW / Answer-figures

W-Eﬁf%!ﬁ / Question-figures

VEO
O x

oo 2] ©
B ® ® ®
1) @ B 4
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46. m—a@ﬁﬁr -/ Question-figures Wﬂﬁfmﬁ / Answer-figures

cl OOEO

1y @ B @
47. T =Rl & U T SO FIA W e wA W g 2

(1) 3 2 4 (3) S (4) 6.
Find the number of blocks when the given stack of blocks is separated :

(1) 3 (2 4 (3) 5 (4) 6.
48. fad m fgz d ¥o1 w41 =t G €

(1) 25 (2) S5 (3) 85 (4) 35.
In the given figure, the total number of cubes is

(1) 25 (4) 35.
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49. fo@ 7 fax § ot = Aiest T 9 4@ T, Al T 2 F GEA $E-A w9E 3 2

112
3| 4
5| 6
(1) 1 (2) 3 (3) S5 (4) 6.

In the given figure squares are folded and a cube is formed. Then the number
opposite to 2 is

1| 2
3 4
5 6
1) 1 2 3 (3) 5 4) .

50. WFE U ¥ 3t faudia weret & g wow B g
In the standard die the sum of opposite faces always remains

(1) 8 (2) 7 (3) 6 (4) 5.
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